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$OKDPGXOLOODKLUDEELO¶DODPLLQ��6HJDOD�SXML�EDJL�$OODK�6XEKDQDOODKX�ZD�7D¶DOD�DWDV�

UDKPDW��NDUXQLD��VHUWD�SHWXQMXN�Q\D�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�7XJDV�

$NKLU� GHQJDQ� MXGXO� ³5DQFDQJDQ� 3HUEDLNDQ� .XDOLWDV� 3URGXN� 7KDL� 7KHD� 'DUL�

5RIIHH¶V�0HOW\�3XGGLQJ�'HQJDQ�0HQJJXQDNDQ�0HWRGH�4)'´�VHEDJDL�VDODK�VDWX�

V\DUDW�XQWXN�PH\HOHVDLNDQ�SURJUDP�6���-XUXVDQ�7HNQLN�,QGXVWUL�)DNXOWDV�5HND\DVD�

,QGXVWUL�8QLYHUVLWDV�7HONRP�

3HQXOLV� LQJLQ�PHQ\DPSDLNDQ�XFDSDQ� WHULPD�NDVLK�\DQJ�VHEHVDU�± EHVDUQ\D�SDGD�

NHVHPSDWDQ�LQL�NHSDGD�

�� $OODK�6XEKDQDOODKX�ZD�7D¶DOD��DWDV�VHJDOD�UDKPDW��UH]HNL��QLNPDW��NHPXGDKDQ��

GDQ�NHVHKDWDQ�\DQJ WHODK�GLEHULNDQ�NHSDGD�SHQXOLV�

�� .HGXD�RUDQJ�WXD�WHUFLQWD��$\DKDQGD�,PURQ�+DGL�GDQ�,EXQGD�6XIULDWL�\DQJ�WLDGD�

KHQWL� PHPEHULNDQ� GRD� GDQ� VHPDQJDW� KLQJJD� VDDW� LQL� NHSDGD� SHQXOLV� XQWXN�

PHQ\HOHVDLNDQ�7XJDV�$NKLU�LQL�GHQJDQ�EDLN�

�� %DSDN�'U��,U��$JXV�$FKPDG�6XKHQGUD��0�7 VHODNX�SHPELPELQJ�VDWX�SHQXOLV�

GDODP�SHQ\XVXQDQ�7XJDV�$NKLU��7HULPDNDVLK� DWDV� NHVDEDUDQ� GDQ� NHWDEDKDQ�

VHUWD�LOPX�\DQJ�EHUPDQIDDW�VHODPD�PHPEHULNDQ�DUDKDQ�NHSDGD�SHQXOLV�XQWXN�

PHQ\XVXQ�7XJDV�$NKLU�KLQJJD�VHOHVDL�

�� %DSDN� ,U�� %XGL� 3UDSWRQR�� 0�0 VHODNX� SHPELPELQJ� GXD� SHQXOLV� GDODP�

SHQ\XVXQDQ�7XJDV�$NKLU��7HULPDNDVLK�DWDV�LOPX�\DQJ�GLEHULNDQ��NHVDEDUDQ�GDQ�

NHWDEDKDQ� GDODP� PHPELPELQJ�� PHQJDUDKNDQ�� GDQ� ZDNWX� \DQJ� GLOXDQJNDQ�

XQWXN�EHUGLVNXVL�GHQJDQ�SHQXOLV�

$WDV� VHOXUXK� NHVDODQ� GDQ� NHNXUDQJDQ� SHQXOLV� GDODP� 7XJDV� $NKLU� LQL�� SHQXOLV�

PHPRKRQ�PDDI�GDQ�PHQHULPD�VHJDOD�EHQWXN�NULWLN�GDQ�VDUDQ�\DQJ�PHPEDQJXQ�GDQ�

PHPEXDW�7XJDV�$NKLU�LQL�PHQMDGL�OHELK�EDLN�ODJL�
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